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Part - III 
BIOLOGY 

Maximum: 60 Scores 
Time : 2 Hours 

Cool off time: 20 Minutes 
Preparatory time : 5 Minutes 

General Instructions to Candidates : , 1 
~ There is a 'Cool off time' of 10 minutes each for Botany and Zoology in 

addition to the writing time of 1 hour each. Further there is a '5 minutes' 
'Preparatory Time' at the end of the, Botany Examination and before the 1 

commencement of the Zoology Examination. 
ii You are neither allowed to write your answers nor to discuss anything with 

others during the 'cool off time' and 'Preparatory Time'. 
et Use the 'cool off time' to get familiar with questions and to plan your answers. 
O Read the questions carefuliy before answering. 
lb All questions are compulsory and only internal choice is allowed. 
o When you select a question, all the sub-questions must be answered from 

the same question itself. 
e Calculations, figures and graphs should be shown in the.answer sheet itself. 
@j) Malayalam version of the questions is also provided. 
e Give equations wherever necessary. 
@ Electronic devices except nonprogrammable calculators are not allowed in 

the Exami:'."lation Hall. 

m1mc&\3(Jtim:.wfi: 
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PART - A 

BOTANY 

Time: 1 Hour 

Maximum: 30 scores Cool off time: 10 Minutes 

1. The class of fungi known as 1. §2o@ci..Jro@o..0c&'s o..0rncru nB)rmo1w@lt!-

imperfect fungi is .............. S,?,ffi) o..0Cf.lffil16lr({J ~OC'li\J86rrl'. 

a) Ascomyc!3tes a) f1J@0'5 I] c£f€):) 6)6)Ql @m.irf en) 

b) Phycomycetes b) @@o..0cicff€Jo@@ai@rrJ8cr0' 

c) Deuteromycetes c) CW~§ClCXl6)6) Q)@ffi) A en) 

d) Basidiomycetes (1) d) 6Y1J rm"l cw1a;CQJ::>@@m6l rnJ8'cru. (1) 

2. Out· of the four statements given 

below related to respiratior.t, the 

correct statements are : 

2. (i()j CT1JffilnJ ldh"l CQJCQ!6lllOCQ!1 6YlJ OW6l~ ~f 

i) Though· respiration has 

traditionally been considered 

a catabolic p:rocess, it would 

be better to consider it as an 

amphibolic pathvmy. 

ii) In muscles when oxygen is 

inadequate, lactic acid JS 

reduced to pyruvic acid. 

iii) When fats are used m 

respiration, the RQ ls 

greater than one. 

iv) In respiration, the energy of 

oxidation-reduction·· lS 

utilized for phosphorylation. 

a) i) and ii) b) ii) and iii) 

c) iii) and iv) d) i) and iv) . (1) 
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®06lY' ®cm1ro1ce6)6ITTi moeJ ln.JcrUcmorum 
c6:i § 1 mi CJO m1 (Q) 0 CQ) ()j ofu 6) 611'5 ~mi 

nB) Y' 6 (0) ~ cB:i. 

i) CJoj (["l) m l nJ 1_ro;l CQJ 6) CQ) (f\) 0 l CTLI B:) CQfl cfu 

Ql:JWI cfu:Jf)6Wt1J:J§_1<fh
0 

( tGWn..J.!2.lmJ) 

Ln.J Lc6:i"lwcwow1 CLJro1w6m1p,f 
0,JtllJ,6llln teo 1 eJJ,o, (IJ@)on.01@ 61',J ogl cfu

0 

[nJ Lm"l wwomfl 0_J rol CD6ffi1 c9€J3<Tnl0io 
mJ1 ro1 cB6\~o ce, ~ s 6 ® cdD CG'0@1 c6:i o aiJo . 

®C @ c (lJ X'iOJ 1 rm eJ 0 cB:,u s1 ce," . @'Om, 0 

61 6l ''- 0 J w I cfu row m,ai 0 mfl 
ml l]roooe;crn"I £rb1<00@qj S2,ffi)6· 

iii) 8cfu0'32,<;t-.J<~cfo@_2,6lS UbJmlmln..J[cB:i"iw 

cc' .:J6 ®?lJiD.cfucl~· 63nn1CJmc00oot 
tfu~Sl,0leJOcnflro1c00J,o. 

iv) Bo cBo
0 crui ,:e, rn 6m -cn1CJroocfu"'rn.>'l&hi1l61Tl 

(n..J ltfb 'lmi1 CW16l eJ ~'D tn@@611l,?,ci..J Ql ffi!O 

wl.q,p6mu CJbj(rnm 

[oJ lcfu iWCQ!J,SlS <50CDQJOCW,l~ 

Clo..OOcrUCln.0001CJl?Jn9:Jffi> ffiSd%)2,ITTl®. 

a) i ~o iig:o b) 11 ~o lll ~o 

c) m~olV~o d) i~oiv~o 
(1) 



3. Complete the given table of algal 3. 

divisions and their ma1e 

characteristics by filling ·'a', 'b'. 

'c' and 'd'. (2) 

Ch'lorophyceae Chloroph:.·11-a, b 

Phaeophyceae Chlorophyll-a, c 

and ........ (§) .......... 

.......... © ........... Chlorophyll-a, d 

and Phycoerythrin 

ar@)afii (I) dl:ifil 6lS OJ rurai c9><U6TDC1J6 o m.lj @O()J 

ml OJ1 cg C,0 n.'l:HOl cEl:i ~6 Q) 0 CQJ1 6W CT'JJ 6) <J:j ~f 

®::l6l':l' @nn1r1l1&16wm n.J§lcEJ:i- · 

'a', 'b', 'c', 'd' ntl)ITnlOJ nJJrol'J:fl.!~i 

nJJi0(01D)i<B:ir1l1c006dl:i. 

··········@············ 

Laminarin Mannitol 

............. @ ~ ............. 
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(2) 

4. Transpiration has more than 

one purpose in plants. Write any 

one purpose of transpiration in 

plants and list any two factors 

4. CTD<nJ,ji]ffi.)jG m<ITTOllm" CTDCTD,)6m3~1 afli 

that affect this process. (2) 

5. Even though more than. sixty 

elements are found in different 

plants, all are not essential. 

Write any two criteria for the 

essentiality of an element. (2) 

6. There is a clear division of labour 

within the chloroplast. 

Substantiate the given 

statement with an explanation 

stating two points. 

OR 

Photosynthesis can be 

considered as the most 

significant physicochemical 

process on earth. Evaluate this 

statement citing any two 

significances. 
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(2) 

3 

6. 

63 <ml afli dl:iJ s 6 (15) afli ~cg <3 CJ() 60'!3 ~6 6fr5". 

®OOJ cw1a;e.J6l ®s:b 1 e..iz,o 631l>2,<8 <3(J()OJ2,o, 

au (11) J cg cru J B m 6l <ITTOl cru J ::i w"I ml c00 6 cm 

<1l6ll'S,l ne.JScEb60'!3filo OB')'l'6®6cEb- ( 2) 

cEJ:,:) 6TD 6l<J:J 31§66) 611'5s:b1 e..13 0 @()OJ 6) cw~ 0 0 

crucruJoocillcOO' ar@ OJ (f(),lffi~ OJ cw~ . 63roz, 

m J eJ cfu mm16l ~ m® OJ ~ .\ cfu ® 6l w 

cru J.!2.!1 CJ:f1 cB6\l cm ill 6fr5° ai om B 6l1U.) 61lB cib 

OB)':l'2,@2,dl:i. 

w ID am 6llB §6 6l s 

nDro1Cl5lce,6TDmm1am 

nJ ffio6 OJ mr cOO afli 

OJ~ ce® Ql 0 CQJ1 

cEb::l6TTl6)<J:j S6rm6. g)2'D lnJCTU
0

®::iru m 

cruoWJ<B:iro1c00.i,cEJ:i. (ill~ cruJ,.!l-lmcEJ:icill). 

Cll'rll6'J~S!b1m'il 

L n.J cfu o en> cru o cg '6B oS1 Gm 6l mm cs ~m 1 cw1 am 
ms c£)6') 6 rm cru 6 l nJ ill om cs 'D ®1 ce, - mo cru 

ln.JOJffi®IDffiQl:)CQfl c£bll>J,Cl5lOClJ2,(ffi®060i'; 

g)2'D loJaU®orum oJle.iCQfl<ll6®0l6c9>. 

( nffi6l®s:b1e.JJ,o (l)6fr5v lnJClWOffi,Jo 

CTDJ.QJJ<;d]c002,c9>) 

(2) 

(2) 

Turn Over 



7. c4 plants have special features .. 

List out any four specialities of 

c4 plants compared to c3 plants. (2) 

Apical dominance and bolting 

are two physiological 

phenomena shown by plants due 

to the activity of two growth 

regulators. 

i) The growth regulators 

concerned are : 

a) Apical dominance : .......... . 

b) B.olting .......... .. 

ii) Distinguish between the two 

phenomena. 

In a dicotyledonous stem, 

secondary growth takes place at 
two regions by the activity of two 
lateral meristems. 

a) Identify the two lateral 
meristems. 

b) List the new tissues formed 
from each of these 
meristems. 

10. a) Due to the presence of a 
secondary construction, a 
knob-like· small fragment 
appears in some 

chromosomes called ......... . 

i) Kinetochore 

ii) Histone 

iii) Satellite 

(1) 

(2) 

(1) 

(2) 

iv) Chiasmata (1) 

b) Classify chromosomes based 
on the position of 
centromcrc. (2) 

K-41 

I 

C 
4 

<T'Jml,)60Bci0 <T'Jo..ncw1lnill1l06mu. C 
3 

®CTD,)6cr9§.6£J:lOmJl ®Orll@D:l,)o 6l.!2Jml(6l::Jafii 

c 4. (f1J(ll),)61l'l'3cilicB€l~ nB36l®fB:,1e.J6o moe.;u 
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cruoJi ai cro n31 ®cfu c1D o.fJ) Y' 6® l/!b. ( 2) 

8. C06TYSU alnDOili(]~Ofim2,dh§.66lS CTllJOWt([; 

®ll) '.) rif6 CTD ffiWiIB §_1 m?J m S<fM'J2,(1'n ffi 6'Tsu 

Ln.J®1<SOffil60B§_:)6n)' ®'lLmc;mw::ioJ10lJClJ60 

( ffim<;t:jlcfr6lm'ii alCWOm1mffilITTl6o) 

. al6'!1J:)cf6§16of:\\o. 

ii) [Q'D ((16fi'Su LnJ®l@OmJ6m"3al§CQJ6o 

oJlcgOJD.Jl 6l-?zl ';'6®dc8o. 

(1) 

(2) 

I 9. BJlGn.flm n.Jl®ffilCTD,)'iDB~lro'Tl, BJ1Clillcw 

OJ §IO-?zi m<ifil @C (1)6613 gi eJ:) CQ.;l , m Gfil cw (D 0 

n.J::iromiJ 6lmro1~6m'3~J,6lS ln.JOJffiarrmm 

nlleJm::imJl · ms~\llmJ. 

4 

b) ~d:::z=.::a-c::> 6";wrnl@<Or'5)1rif/i mlcrn,?,o 

r-; r.: ·::::.. ::'iJ cw 6 b!l'S:)c&.,,!,(ffi cfuf!J c:a:,'§.6@ s 

Gc.....:G r4)Y'cl®.Jcfu. 

10. a) G:.Jf!CQJ ffil<ZIBJGDJ6lmol (ollsoll6lm) 

c-:;siDITTJ' 11l.J':l' <ZnJOeJ~ rs:::>mo cleJ 

cg ~cBoOO:H&CTDODl6dl:>~1 afli (c)Jn.J 6l\{:j S006 

~'. arroru6Jw oJlg1lc003crn®, 

j) 6l6lcfu<Tl<Zfi0al<B>Offi 

ii) n.01<8g)p611'0 

iii) CTU06186l6leJRu 

(1) 

(2) 

iv) ce,wom.f<2m8 (1) 

b) 6lmJCT0<2lS:Jm1wo16'l~ cruoom®lll16'l~ 

®O s1 CTU.O o m (Qf75)1 am cz L d3:i o m <2 m.i o m 6 

dl:>6l§. rmmo mllmlc00,i,cm. (2) 



11. · Observe the diagramatic vic-w of 

a cell cycle and answer the 

questions. 

a) Identify the phase in which 

DNA synthesis takes place. (1) 

b) Mention ahy one event that 

takes place in the stages 

marked as 'x' and 'y'. (2) 

12. Two crucial events of aerobic 

respiration takes place in two 

parts of mitochondria. Locate 

the' two parts and mention the 

two events· in one or two 

sentences each. 

K-41 

(3) 

5 

11. <8d3o:JCJ0.2J ld3o0YOl16l1l .2.J1 l ®o m1 Clll cMll.g,t 

<8.2JOGJ60BUOc:B€:~ g;lCOfOl06lQll9,J,®6d3o. 
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a) DNA CQ>66lS m1&amo6m n.e.J§o ntn®? (1) 

b) 'x', 'y' nmrm160B6lm @1)S02J0~6l2:JS,J,-

0Y0J1cw1 ro1cB€J,J,Cln oeJ§60B~1 am 
m s cOCJ.6 rm ntB 6l ® m, 1 e.i 6 o 63 ro 6 

m.lor5ClJo m.l~.!2..ll~cOO,J,cfu. (2) 

12. OJ002!J Cf0jffi)ffi(ffil)16l1l @O(f)Ql:JCW~_§. Cll6fr5" 

rrDJ,lnJWom m.lor5ClJ60Bcm ( o.JLd3olCQ>d3ocm) 

((l@6ffi. 6l6lQl<8\:j0<8d3oOsnDLCW1CQ>02J,J,6lS Cll~ 

@O(f)61JBgie.JocnJ1 ffiScB€JJ,rm@. 

co~ r50(f)60BUO ntj36l®ml ClJJcB®QlOcOOl 

®O o..n s o..n s 6UB ~1 eJ 0 CQ.fl ms cB€J 6 ffi) (() 6fr5u 

CTD o rs ru 6ITT3 ~6 6l s CQJ 6 o rru J !l...I m ( 63 <8 rm o 

Cll<86fl'50 0.J0.2.Jcfu(QIQ)1afli) mafficfu,J,cfu. (3) 

Turn Over 



13. In most of the plants, roots are 

meant for absorption arid 

· fixation. But there are 

K-41 

exceptions to. these functions. 

Justify the statement citing at 

least three examples. 

OR 

The main function of most of the 

stems is spreading out branches, 

bearing leaves, flowers and 

fruits and· the conduction of 

materials. 

But there are exceptions to this, 

Justify the statement citin.g at 

least three examples. 

(3) 

6 

13. ai1 W6) m)(ru J ~ ~} e.16 o <3 OJ r1\l,ce:. c.1J 

®~ wi rn 61n W.o)1 m 6 o mJ \HJ~ 6l (QT(l) ai 6Ml 1 l\l'ii 

~OQ:jlg,,f oilitmm::>m],o crnnDOCllH<B€!J/mrn 

wotim". nmrm:::ioJl®lo-) m!00_JOJ:J86ur3~­

(Jj;prJ. 

O@@®B:h1eJ~o 11i6® g,lB:JnD(06TD ffiJnD1®o 

g;Q'O Ln.Jm)m:::;.:um mJDCllJl,BJ;Olceo,i,o:b. 

(J()061Jcb6l~ \'cJ1mJCTU1c66l(,cfu; g;Q0Jcfu[,i/J, 

nJ·.i,cufnJ GtfBJb, nD e.i601300 ntJJITTllnJ 

rn n.dl c.&6) 6<Bo , ~;J (3 :J CD@JJ cru oru nD mo 

WGffillo. 
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(3) 
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PART - B 

ZOOLOGY 

Maximum: 30 scores 

Time : 1 Hour · 

Cool off time: 10 Minutes 

1. Complete the table usrng 1. .!l..160J6JS 6lcfuos,;mm'lro1c003rrn o.J§1cfu 

suitable terms. (1) Cf1)ro1wocw nJB6liT3W ~oJClCOJowb,f 

o.JJ(()1~cOC6oS:,· 

Common Genus 

Name 

6>nJO®JffiOQlo . gg'lmm) 

Man ......... 
mm6oS:l.)® ••••••••a0<~ 

2. Prawns and insects' are included 

in the phylum arthropoda while 

they have different habits and 

Species Class Phylum 

m)nJ!mJ)m) c§!JOrn5 MJ 6)6)nlleJo 

Sapiens Mammalia ............. 
n-uo~1 w®<nl' QlOCl Ql eJ1 CQ! ............... 

2. CTUJ<Socu ru.io ru::)(Tucn.10e.i ru30 

n.11 @1mimoCQfl330, 6l .0J OJll/ m 6 o -~ cu..r nJ 8 

6013 ~2,0 6l 6lo.O eJ o @®ii> l C: CillOC: nJ ~CUJCQ}j 6l eJ 

&.i"lo11c£h~:J6!1r. m1615l3~,J,6lS ~cmmroo 

(1) 

habitats. Justify your answer. (I) 
m~ocriJ1,_a,m1dt6\~c£b. ( 1) 

3. If the head of a cockroach is cut 

off, it will be alive for as long as 

one week. Gjve clarification for 

this statement. 

4. The diagram given below is a 

simple epithelium. 

· . 
. :@.-. ·@l.·. :® ·. 

"'p 
a) Name the part marked as "P" 

in the figure. 

b) Write one function of a 

(l) 

simple epithelium. (1) 

K-41 7 

aJ o R1 m1 o eJ 2.0 aJ® 1f .2J d3:. <il ~ o §. o ffiYO cor 

m1o11ce6\J,Cm6. m16m3@_,J,6lS ~@'ll)roo 

CTUOW ~dhro1 d1til2,db 

4. au1oa.Jlcfb <1\J)~<OfID"le.J1warrm16l~ !L%IDo 

m1<0ldMn&06dh. 

~··:-· .. ~, 
. ;@.-. :~.··. :®-..I 

... 

p 
a) .nil L®Coni:;1mi "P" o.mcmsCQ.J0~6lc;U 

S(,(1i®1mJl ro'lc9€.>J,<m <SOC00llil16l~ <ilo_l al 

ntl)'P6®6&1:>. 

b) cru1on.1lcfD <1\J)c;t:JlW1m"leJlw(OW)1@<B 63C06 

(1) 

WCOCll:llo <1\J)'P6®6d3>. ( 1) 

Turn Over 



5. Find the odd one and write the 

function. 

Neutrophil, Erythrocyte, 

Monocyte, Lymphocyte, 

Basophil, Eosinophil. (1) 

6. Identify the protefo structures, 

(A) and (B) from the following 

figure. _ (1) 

(A) 

7. The male and female 

cockroaches can be identified by 

the difference m their 

morphological features. 

a) Name this phenomenon. 

b) Give one external difference 

between males and females. (2) 

K-41 

,. 
;). 

6. 

8 

631](1) ru1 @o (f) ®'"0)1 ei ~ o (lf® ®1@ m 

rfb 6l ms @o: 6 cm . ((ffi)@1SJ~ (J.) ro 01!lo 

ng) ':96 W\l,cB:i . 

ffi<lJ l]LSO<"L'.Jt aili, '"l{J) o1 <EL® o 61 6) ml R", 

I] ill Cl I] ITT'.) 6) 6) ffi) R", 8ll o I] n.0 o 6161 rru R", 

<ll6'!1.Jl]CrJoo..1iro'li, ~'Dffil1cgmon.01ro'li. 

®06l':9 6lcfuO S,J,(lf®1 ro1 d1til ,i,on Dl1 l ® t>ro§l ro'li 

(A) CW/,o (B) W{,o 

ne.1Sfficfu§06ffi: 

@TD S~ CTU.0 0 m W®1 COO 

ailo.JOglm1@~ nffi® 

rtJORrfri§16l e.i 

61r...J6MJ16lm w,10 
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(1) 

(1) 

(2) 



8. Observe the figure given belmv 

and answer the questions. 

9. 

{B) 

a) Write the name of the figure. 

b) Name the labelled part (A) 

and (B). 

c) Which is the site of formation 

of µJtrafiltrate? (2) 

Red muscle fibers have greater 

capacity to do work for a 

prolonged period, whereas 

white muscle fibers suffer from 
fatigue after a short work. 

Evaluate the statement. (2) 

10. Figures (X) an<l (Y) are the fish 

of two different classes. Identify 

them and differentiate between 

these classes. (2) 

(X) 

11. Asthma and emphysema are two 
disorders of the human 
respiratory system. Mention 
their causes and symptoms. (2) 

K-41 9 

8. ®06)Y' 6)cfu::lS2,amD1 ai1cS6\J,ITTl !1.l1 L®o 

m1ro"l~1..o~" lli.2.JOB.,J6m'300c66)" ~ffiYOlroo 
04)Y'6®6cfu. 

I 
I 

a) ®cm1 ro'lc00c?,rm 

Cl oJ 6) ({) Y' ,!/ll\lc,9,. 

b) .2.J1ummrm16)e.J (A), (B) <ID66ls 

llioJ6)C0lf',?,CIDc?,cfu. 

c) ®1Jv1llson..01afilcglsff ~6IT50cfu6rm®" 
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04)o..!l6'ls? (2) 

9. @ o M 0 m cru1 col\ • @@ n.JJ 60J o J,d'b c.iO &3€t 

Bl iO o.eJ CTD ill W o a: @il 0 ef1 6J !lJ c:fil,!,(ffi @1 m" 
cruow1c006rm6. tm'()lli®CTDQlWo 6)6lOJR 

ai cru1 af/i @ 6) n..0 sru o 6 d.'b ~ ce6f d3:> 6 o ~ 6 
CTDQlCQJo a:moefl 6)!l..J~c?,lllmJOci'O ®@rm 
dMl161no <1mlffic?,@OJ6)QjS,J,ITTlJ. 

<0> <m1 m 1 c£15) 6 <m l o.J cru" ® o ru m @ w 
o...Be.imflmc?,rir®c?,ce,. (2) 

10. X, Y 04)00 .!llll®6N3c10 m6Yl56 ruj®,1fn5<ID 
~ Oq;\l2,cfu§_1e.l6~ mrnf<rnj615B~psm". 
g;QOJWJ,6lS ~o'Af ®1ro1ajo1@1mif mmru 
@tlill1eJ~ QJjc75ljO<rno nq)'l'6mJ.?,c£h. (2) 

{Y} 

11. ro'@)®®ill<:W.Jp n.ff)on!flcruiaiw6o mm6rilij 
Ull J <mm QJj(lJ CTUD6l(ll) 6YlJ00Jl&lf)~<m (l)~ 

<UO Cl Cf) 6ITT3 ~ 0 61Tf. ®Cl OJ~ 6 6l S 

eJ<OOJ6TD6UB§Jo _cfuOro6TD60B§Jo 04)'?6®6db. ( 2) 

Turn Over 



12. Analyze tl:e graph showing the 

activity of an enzyme, influenced 

by temperature. 

12. o.B)<ili6l6lcruo 

(15)0nJm1eJW66lS CTUJOW"lmo 

®~-..Jl<,tJlc8€>6ITTl LC/JOnJJ° m1co"lcMllc8€>6cfu. 
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Temperature 

a) What is meant by optimum 
temperature? 

b) Why does the enzyme activity 
decline at too low and too 
high temperatures? 

13. Observe the flowchart and 
answer the 
below. 

SA Node 

grven 

I :~ ~v Nod~~~-=i ,______ ~ 

[ 

1 
Ventricle Contraction 

I v 
AV Bundle 

I 
j 

Atrial contraction ] 
a) Draw the flowchart correctly. 

b) What will happen if the SA 
node is . not working 

(2) 

properly? (2) 

K-41 10 

b) ®OoJm1 eJ OJ ~6)(1) cfuc1,0WJ,cfuW6o 

cfu~SJ,cfuCl2\\o 6l.2J~2,<8ffiJOcfb 

o.B)<ili6l6lcruo LnJOJro(l)10Jmo 

cfuJ,OWJ,ITTlml O{j)mJ)J,6l&b06f@? ( 2) 

13. rufo~o.2.1oro3u m1ro"l<W:l1!?i ®061'? 

6l &b 0 S 6 01lfl1 ru1 c9€J ~ ITTl a; .2J O BJ GOB cfb ±'6lu 

~amroo meJce:,3ce:.. 

SA a;moru5' 

AV a;moru5' 

a) nDG:~o.2.1om§ U1Jro1wocw ro"l<ID1mflai0 

OJ COWcB€>6c&.. 

b) O{j)rrU 11{)) G:moru5' cmro1wow rokm1CQJlaiO 

l oJ OJ ro COTUl1aj161 §:j ab 1 aiO 11{)) mr 
croo@oJlcB€>2,o? ( 2) 



14. Observe the following figure. 

a) Name the figure. 

14. @06)'? 6lcfuOS6<Drn1.ai1c006rm .2.!1t@o 

m1 ai'lce-,:tllc&o1J,&i. 

'~~--B 

·~!,ooof-C Sub mucosa 
~~t'l!;f--0 

a) @'D .!l.JlL®o n@®oGTT)? 

b) A W66lS<ID60 B W66lS<ID60 
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b) Label the parts A, B·and D. (2) 
D W66lS<ll>J,o CkLl6lCTl'?6®6tfu. ( 2) 

15. Match columns B and C with 

column A. (2) 

15. a:.®O~o B (Qfle.JJ,o C (Qfle.JJ,'1l6~ClJ6)CQJ 

cg~o~o A ®11m6croai1.!~,f (g.!.lJ<ll.?,onJs1 

Cli.2.J W cOO 6c:!l:i. 

A B c 

Thyroid Insulin Weak Immunity 

616l®Cl:OOmJCUJ° @cmcro6ell cm o.l'lcOO' @r.mi~6nil R1 

Pituitary Thymosin Gigantism 

nJlRJ§o1 6)6)Cl5lllWlOml1cro 6)6J8168160'Wm.>o 

Pancreas Growth hormone Diabetes mellitus 

nJOcro l®1 worn) Clil(l)Ocorn)'a:nno&a:mo61'1'6 Mm.>mJR1® 6lm eJl R® 

Thymus Thyroxine Goitre 

6)6)Cl5Jmcru 6)6JCl5JCllOOcfbml1cfb a: (l)OCQflRiD 

(2) 

K-41 11. Turn Over 



16. Birds are well adapted for 

flying. Give any three of such 

adaptations. 

OR 

All vertebrates are chordates, 

but all cho:rdates are not 

vertebrates. Justify this 

statement with an example. 

17. a) Prepare a pathwa:Y of an 

actiori by using the following 

hint. 

[Hint - Receptor, .Motor 
neuron, Afferent neuron, 

Efferent neuron, Interneuron. 

in the spinal cord,, Effecto1· 

organ.] 

b) Give an example of such an 

·action. 

OR 

Compare rods and cones of the 

retina based on the follmving 

features. 

i) Shape 

ii) Type 

iii) Ability to detect colour 

iv) Pigments 

v) Vision 

K-41 

(3) 

·· 17. 

(3) 

12 

<llCLJGT@h:w~ LoJi;;mi~c&, amim6cfuJeJm6Ur3cio 

@_6Tr~. ctm'.IOJm!l<O'O o@6l®ffh1e.J,10 0\l6)ITTl6mo 

ntl)'.l'Z,C0)6cBo. 

ntl)~::l 6lOJ&§1Qil6YllRJ,cfu~6o 

QicfuOiDGCw8cfu~06TT.lu. ntl)ffilO<O'O n{j)5'J o · 

Cli@OiDGC.:.JRcfu~c 6lOJib§1Clil6DJR6d3:i~. 

LnJm5@'.)C'Jm 6381, @_80nDC06m ffilo_.ril@c 

cmOWJcfuilo%l6c8o. 

a) ®06H © c:ril 01 cBt>'\l, mi cru J.2J mc&.i cJb 

@. n_J (g(!)) '.) C/)l ~u 63CllJ, 

l 0.J rn f6 (O'(O; (:J cmi 16l <VJ nJ :) (OJO)u (2 QJ 

m1 & artil:B<il 6 o?; . 

[au J.'l..l m: - o'l CTDo_r 8 ft, cimoa:30& 

m
0
')Ja:oo611'6, ®'D n[J () rAU m,:i~a:oo611'6, 

~o.OOCVJ
0

m;;~izoom'b, ~~:'6-

ffibJtEOOGfi6 ( 6l €rn;;g maru (gc{b'.)(()QJJ)' 

~c...ocl'bsfO 63o&wcro.] 

b) ~(CY'S> :t(GYO)l eJ/,~ l w ru iO (010) m 010)1 m" 

6"3CD6 ~G'.Jn .. f)'.'D61T>o ntD '9 2/0\\c&.,. 

®06W cmrrrJlrn1c9€l6CTD cruo.11a:oon'l'.160Bc.itl 

mrum.i,cmro'l.q,f 6l081mcDJ16)e.J, 

a:oocufrro16lm w1,o a:c&o611'6rrn1 @rnWJ,o 

®'.lffi@Q1J!;)c;tjSJ,XfOl1 n{j)':l'J,f6\J,cfu. 

i) (\j@)c&.i,) @1 cfo 

ii) ®roo 

iii) m1o6tiBfil6lS <llOJf0®1ro1..g,Jo1cwom1,~§ 

@':?lol 

iv) nJl u:i'@a:i qq 
v) Qf1 rrlj db 
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(3) 

(3) 

1,95,000 


